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No. of Questions : 180

YAl ol €T : 180
Time : 2 Hours Full Marks : 450
7Y : 2 qU2 quTE : 450
Instructions :
fA=er -

This paper consists of Objective Type Questions and is divided into
Two Sections (I & II) as under.,

%H&H—Wagﬁzﬁaﬁquﬁwamﬁa%w%w(mﬁm

(a) Section - I consists of 120 Objective Type Questions on General

Awareness, in some major subjects.

TUS- 1 120 Fgfeedi 797 B8 e et & aur o
qT AaRe &) ’

(b) Section - II consists of 30 Objective Type Questions on (I} English
Language and (II) Hindji Language.

G- 1 H 30 TERHET G5 (1) o
A & T X e ¥ o T Sy o

A candidate is required to attempt as many questions ag 1
as he/

she can of Section- I, and Questions on ANY ONE of th
. e T
Language papers (1) English OR (II) Hindj i, Section . 1 "o

meﬁﬁ@ﬁ%%ﬁs@g—rwm- .
(Irl%ﬂwwimmqsﬁ@ﬁ?glmmm

P.T.0.
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Note/dIT : (1) Each question carries 3 marks. One mark will be deducted
for each incorrect answer. Zero mark will be awarded for

each unattempted question.

UE U9F 3 iRl 1 B | S eI SO & T TH 37
e ST | F&e ARG 997 & AI<iich LA e |

(2) 1f more than one alternative answers seem to be approximate

to the correct answer, choose the closest one.

At s Jeias SO T8 SUX B e Ho o, af
Frepeay 98 SmT & |

(3) Each question is followed by Four alternative answers (1),
(2), (3) and (4). One of these answers is correct. Select the
correct answer and record it against the relevant question

in the ANSWER-SHEET by darkening the circle with Ball

Point Pen as per guidelines.

q@mnw%aﬂWW@r&nﬁ%ﬁ%m,m(s)
ammm‘%ﬁrﬁaaﬁmw%laﬂﬁﬁ%aﬂwwé’mﬁ
%16@W§ﬁrﬁwaﬂ%ﬁ%ﬁiﬁraﬁ?ﬁﬁmﬁ?ﬁﬁ
mﬂ%wﬁﬁﬁﬁwaﬁmw(ﬂﬂlﬁ)@faﬁmﬁﬂ
mmm@ﬁ'ﬁm |
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SECTION -1
guvs - |

01. Which of the following is not vestigial in man ?

02,

03.

(1) Tail Vertebrae (2) Nalil

(3) Nictitating Membrane (4) Vermiform Appendix
Frafefes & @ o wgss § orandt s et 27

(1) 9B F9rae (2) g

(3) FAY®H gea (4) THIEH wifeeey
Chemical use in “National Malaria Eradiéation Programme” is
(1) 2,4-D (2) BHC

(3) DDT (4) Pyrethroid
“WWIWW”ﬁWW%

(1) 2,4-D (2) =fo=rh

(3) 2 (4) drseiize

The enzyme, which combines with non-protein part form 4 functional
enzyme known as

(1) Co-enzyme (2) Holoenzyme
(3) Apoenzyme (4) Prosthetic group

Wﬁ@%&ﬁﬁﬁmﬁ%%ﬁ?ﬁﬁmamg:

(1) -5y (2) ezrzy
(3) udE=TER (4) ﬁ;&ﬁzﬁw

P.T.0,
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04.

0S.

Number of hyrogen bonds between adevine and Thymine :

(1) Two (2) Three (3) Four (4) Eight
TS IR g & A eEgod a9 @ GE

(1) ar 2) &= (3) =X (4) TS

Which of the following enzyme digest protein in stomach ?
(1) Trypsin (2) Pepsin
(3) Crepsin (4) None of these

AT B Brey § @ @r-ar TeH W @ arae &I 8 7

(1) F== (2) U=

(3) I (4) TR & g T8l
06. Carotene pigment is found in the cell of :

(1) Dermis (2) Epidermis

(3) Adipose cells (4) Both (2) & (3)

07.

%ﬂﬁqmsﬂﬁf@mﬁww%:
(1) © (2) STER
(3) aar FRE (4) aET (2) 3T (3)

The Leucocytes contains which of the following in large quantity 9

(1) Basophils
(3) Eosinophils
gﬁmmﬁmﬁﬁﬁﬂﬁf@ﬂﬁﬁﬁﬁmwﬁaﬁ%?
(1) T (2) TR

tS) {Fﬁm’.{ (4) i_] ilfl|53

(2) Neutrophils
(4) Monocytes



08.

09.

10.

16U/119/8

Which part of our body secret hormone secretin ?

(1) Ileum (2) Stomach

(3) Duodenum (4) Oesophagus
E{qﬁaﬁl?asraﬁ?r—maiwm‘éﬁa%ﬁqa?rmm%?
(1) &= (2) SIS

(3) wsvft (4) AT

During inspiration the diaphragm :

(1) expands (2) shows no change

(3) contracts and flattens (4) relax to become dome shape
ST 98T % R ST

(1) Aar 2

(2) emfafda wear 2

B) Togsa & oM} 9uer Aqr @
(4) R BT T & b 7 B oy B

The oxygen toxicity is related with :

(1) blood poisoning (2) collapse of alveolar walls
(3) failure of ventilation of lungs (4) none of thege

Wﬁﬂﬁmﬂﬂmawﬁﬂf[%
(1) TR fquredar @

(2) TgHNT R B vy
(3) W%mgﬁanqﬁﬁr%ﬁr
4) ¥ ¥ Fp

P.T.0.
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11.

13.

Cardiac output is determined by :

(1) heart rate (2) stroke volume

(3) blood flow (4) both (1) & (2)

(1) #ed vid 4 | () ST & HET 8
(3) @ HEAX | (4) aEt (1) iR (2)

The important function of lymph is to :
(1) transport oxygen to the brain

(2) transport CO,to the lungs
(3) retutn RBCs to the lymph nodes

(4) return interstitial fluid to the blood

T 1 & HE T

(1) RIS @1 fRETFT O ST

(2) CO, T HHSt T & ST

@) e e e B adie R 6 A S

(4] otrcicolxiia <IeeT Ty <err T AT & SIEv

13. The yellow colour of urinc is due to

(2) testosterone

(1) wurea .
(3) urochrome (4) bilirubin

w2 o e e BT Bl ¢

) g 2) YRR
(3) TAHM (4) eSS
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14. The lining of intestine and kidney in human is :

1S.

16.

(1) keratinized (2) brush border
(3) ciliated (4) none of these

"I B A A gp i oTEw P

(1) BRRET gamy (2) =9 EY

(3) wifies (4) ¥ q FB @ 9§
The leyding cells secrete :

(1) Oestrogen (2) testosteron

(3) progesteron (4) Corticosteron
ST BT w e §

(1) TEE (2) TR

(3) IR (4) wHiERRIm

The function of pineal body is to ;
(1) lighten the skin colours

(2) control sexual behaviour

(3) regulates the period of puberty
(4) all of above

ﬁﬁma@wm%

PoT.Oa
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17.

18,

19.

20.

Haemophilia is a :

(1) deficiency disorder (2) Y- linked disorder

(3) X- linked disorder (4) autosomal sex disorder
EmIThdrar 8

(1) = 0 R (2) Y- d 2 @R

(3) X- 8 93 R (4) SiEmT a9

UV radiction from sun causes which of the following disorder of eye?
(1) cataract (2) glucoma

(3) dilation of pupil (4) some defect of retina

gigwaﬁiﬁwq%wﬁﬁﬁﬁaﬁ@aﬁrﬁ?—mw
Nt &7

OVCIREIER (2) GEETE
(3) geht B fawm (4) A gedT B FB T

The interferons are :
(1) antiviral proteins (2) antibiotic proteins

(3) antigen proteins (4) antibacterial particles
EALEAURAL 9

(1) FrroRrER e (2) SharoFTeE A
(3) s HIEH (4) SfErgdel &

Which of the following organism is useful in the preparation of

roquefort cheese 2
(1] Mucor
(3) Aspergillus

(2) Rhizopus
(4) Penicillium

10



21.

22.

23.

24,

16U/119/8

ﬁwﬁﬁﬁ?—mvﬂaﬁiﬁqﬁ?ﬁraﬁﬁﬁfﬂﬁﬁ"%?

(1) =Y (2) TSI

(3) TEIRSHg (4) Uiy

In parasympathetic nervous system, which of the following is released ?
(1) Epinephrine (2) Nor-epinephrine
(3) Serotonin (4) Acetylcholine
Wﬂﬁmﬁﬁwwﬁﬁwﬁéwaﬁa@m%?
(1) TRETE (2) SA-ofRtss

() #AF= (4) ufFeTETERR
What is ‘study of ageing’ called ?

(1) Gerontology (2) Geriatrics

(3) Anthropology (4) Ethnology

YO AT B T ey Sy 7

(1) ST fasm= (2) SO F=fhear

(3) JFias= (4) AT Sy s
‘Lock Jaw’ is another name of :

(1) Malaria (2) Kalazar

(3) Tetanus (4) Diptheria

um :r'ﬂ’” Em. W ;ﬂq % : ‘

(1) =R (2) BRI

(3) ugwry (4) fSefifer

Polymerase chajn reaction is most useful in :

(1) DNA synthesis (2) DNA amplification
(3) Protein synthesis (4)  amino acjg Synthesis

11
P.T.0.
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25.

26.

27.

JreimST e uiafkar, 9gd Swrt ®

(1) DNA Hssiyoy o (2) DNA frmer #

(3) U Hewwor H (4) T ofs dewer ®
‘Tree of life’ is :

(1) arbor vitae (2) pons varolii

(3) organ of corti (4) diencephelon

H ITF AZH O

(1) SIREY argel (2)- uiE AAE

(3) FIA T dlels (4) STETADBIE

Which of the following vitamin is water soluble as well as antioxidant ?
(1) Vitamin- B, (2) Vitamin- A

(3) Vitamin -D (4) Vitamin - C
ﬁﬂﬁﬁ?ﬁqﬁﬁﬂwﬁ@ﬁﬂﬁﬁmwﬁﬁi‘ﬂﬁ%?
(1) faerf@s - B, (2) Fmﬁ‘—r_ -A

(3) fa=iw=-D (4) fae=-C
Transposons are :

(1) house keeping genes (2) jumping genes

(3) transporting genes (4) stationary genes
STAGIE €

(1) @reE T S (2) STERT S

3) e S (4) RIFQ S

8. Which of the {ollowing is respiratory disease ?

(2) Arthritis

(1) Polio
(4) Cancer

(3) Asthma

12



29.

30.

31.

16U/119/8

Fr<1 o 8 &9 arg gyt AT 8 7

(1) ey (2) T

(3) T (4) HET

Binomial nomenclature was given by :

(1) Darwin (2) Whittacker

(3) Linnaeus (4) Engler and Prantle
e aeftepeor fopar o

(1) == (2) FieHT

(3) fofree (4) di@¥ ST gredt

ADP contains :

(1) one high energy bond (2) two high energy bond
(3) three high energy bond (4) four high energy bond
ST O B | -

(1) T Izg ISt awem (2) = I=w I T

(3) T I==r It sy (4) AR I= St S
Outermost sheath of connective tissue that surrounds a skclctal
muscle :

(1) epimer (2) epimysium

(3) epimerites (4) epimere
ﬂ'ﬁ'leﬁﬁmmﬁmﬁﬁ@aﬁaﬁ%;
(). JEEY (2) TR

(@) e 4 o

13
P.T.0.
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32.

33.

34.

35.

Process of blood cells formation in bone marrow :

(1) Haemolysis (2) erythroblastosis

(3) haemopoiesis (4) thrombopoiesis
SRI-HooT & o difepredt & Frafor Y gftear ® -

(1) Emremsfaa (2) cfehERRIfag

(3) Eraesiag (4) =i
Enterokinase take part in the convensioh of :

(1) pepsinogen to pepsin (2) tripsinogen to tripsin
(3) protein into polypeptide (4) caseinogen to casein

AR 37 SR § 9FT AT @ ¢
[

1) TS H aiE (2) FrFS B FrE

(3) HIEM @I UlI<Es (4) DT H HEHA
Depression of nervous system including the respiratory center is called :
(1) neuritis (2) Sciatica

(3} Neuralgia (4) narcosis

qE %aﬁaa@mmawﬁm%:

(1) =RER™ (2) drafeenr

(3) iyl (4)

Pathogen for french pox is :

(1) variola (2) rubela (3) treponema (4) trachoma
e i & AT O
0 Md@er @ W (3) R (@ SrepTHT

36. Which of the following is viral disease ?

(2) tuberculosis

(1) diptheria
(4) small pox

(3) malaria

14
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Directions : In each of the following questions a number series is given

67.

68.

69.

70.

71.

T2.

with one term missing. Choose the correct alternative that

will continue the same pattern and fill in the blank spaces.
Frafafae uedt 7 o of % Ran mar B, Rrad o s g2

T B 1 98 fAeeT @1 g Y SR @il e ® 9% S 999
# Ru 7T w9 H S T@ar |

1,6, 13,22, 33, ?
(1) 35 (2) 46 (3) 38 4) 49

21,9,21, 11,21, 13,21, ?
1y 18 (2) 17 (3) 23 (4) 25

10, 14, 26, 42, 70, ?
(1) 86 2) 98 (3) 114 4) 126

1,9, 17, 33, 49, 73, ?
(1) 78 (2) 85 (3) 91 4) 97

31, 29, 24,22, 17, ?
(1) 15 (2) 23 (3) 13 (4) 25

Introducing Priyanka, Saroj says that her mother is only daughter of
my mother. How is Saroj related to Priyanka ?

(1) Mother (2) Sister (3) Daughter (4) Auﬁt
ierr 1 GRe@ R ge T X AT B IR W AR o
el g1 § | WS 1 B @ 4 weey § 7 e
1) (2) & (3) gt (4) =R
23
P.T.0.
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Directions : In each of the following questions four words aré given. Out of

73.

74.

75,

76.

717.

78.

these words are alike but the rest is different. Find out the

different word.

M= et § AR 9 Re 7 ¥ | 39 @ 0ew g= o 9
€, FFg us arerT ¥ 1 o I #Y STeT SRT |

Yellow

qre

February
(1)
(1) 5

Mountain

9

Cloud

Teacher

(1) D

(2) Colour

2) @T

(2) April

(2) T
(2) 7

(2) Star
(2) ORI
(2) Rain

(2) adt

(2) Principal

(2) geTTE™

24

(3)

(3)

(3)
(3)

(3)

(3)
(3)
(3)

(3)

(3)

(3)

Red
NN

June

Plateau
qaX

Fog

Fel

Student

B

(4)

(4)

(4)
(4)

(4)

(4)
(4)
(4)
(4)

(4)

(4)

Green

el

September

RS SREd

11

Forest
ST
Vapours

Itk

Lecturer

AT



37.

38.

39.
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Fre & @ @ Frr shE 3 7
(1) fewhifear (2) & AT
(3) HARE (4) ==

Patient of cobra bite dies due to :

(1) destruction of RBCs

(2) inactivation of nerves

(3) permanent contraction of muscle
(4) none of above

qY g91 & TS 39 FHROT ARaAT B
(1) T <ot wioTeRrsTl & fa=rer 9
(2) af=rerrelt & Fferaar |

(3) wE Ufrdt & wend deper @

(4) SYUFT HIE T

Hepatic portal system collects blood from-. :

(1) liver (2) lungs

(3) kidney (4) alimentary canal
feufess Qe gomelt <o/ @7 dareor R B

(1) apfa & (2) wst d

(3) &k @ (4) SRR T [

Which of the pair is not correct ?
(1) Stegomyia - yellow fever
(2) Pediculosis - Trench fever
(3) Culex - Malaria

(4) Xenopsylla - Bubonie plague
HI- ST qE TG B 7

((21) wriTEaT - ;;?rr Bax
) At - LGRS
B) FF - =@

(4) ST - A @

15
PLT.0.
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40. Which of the following organ is blood bank ?

41.

42.

(1) Heart (2) Lungs (3) spleen (4) Liver
g & 4 9 o & b 8 ?
(1) =4 (2) ®HS (3) ferewit (4) T

Harmone that promotes cell division, protein synthesis and bone
growth :

(1) ADH (2) ACTH (3) PTH (4) GH
FifEE o A AR oY iRy gy HRA e B E
(1) Tsr 2) T®W A T

(3) 49 wm 4) S o

The term ‘breed’ refers to

(1) a group of animals not related by descent but similar in most
characters.

(2) a group of animals related by descent and similar in most charac-
ter.

(3) a group of animals related by descent but have almost different
character.

(4) a group of animals neither related by descent not have similar

character.
gz @z deffa & B o
(1) Gfﬁﬂﬁ%ﬂgsésﬁafarﬁaﬂﬁmﬂﬁ%qﬁmaﬁa
(2) SFEd & TYE & S dor @ i o § R st WA
¥ g 2§
(3)@%@@&&1@@%@%%%‘%{%“%@
(4) el & TS S A dw § e 00 ¥ 7 & W ;A B

B

)

16



43.

44,

45.

46.

16U/119/8

Black rust of wheat is caused by :

(1) Pccinia (2) Albugo
(3) Ustilago (4) Cystopus
TG, T =N T THD HROT ST X :

(1) gt~ (2) T

(3) FRewrm 4) W=

Term ‘Apiculture’ refers to :

(1) tissue culture (2) pisciculture

(3) bee-keeping (4) animal keeping
% ‘e’ i ©

(1) 39 #F=x /@ (2) WS g |/
(8) HAYHFE! U | (4) 9% 9RTT @

‘Lean meat’ is considered to be high quality because it has :
(I) lesser but easily digestible protein

(2) lesser lipid content

(3) more fat that makes the meat softer

(4) lohger table life due to lesser chances of infection.

W%meww%aﬁ%gﬂﬁm%
(1) &9 dfFT STar & wa arer S
(2) @ JET FHI HEH |

(3) % T|n S 7| @ garw e g
(4) W%wwﬁ@ma@aﬁ.

Which of the following is an improved variety of chicken ?
(1) Jersy (2) Leghorn
(3) ~Himgiri (4) Kalyan Song

17
P.T.0.
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47.

48.

49.

ﬁqﬁ@aﬁﬁaﬁa%@ww%?

e @) et
(8) Tenmfy (4) AT HET

Probiotics are :
(I) cancer causing microbes
(2) new kind of food allergens

(3)  live microbial food suppliment

(4) safe antibotics

ﬁa’@fﬁw%‘:
(1) HET TG HTY A g
(2) @W%Wuﬁiﬁm

The masses of bacteria held together by slime and fungal filaments to
form mesh like structure are called :

(1) primary sludge (2) flocks
(3) activated sludge (4) anaerobic sludge

g o M W X W v g ST l B W, A
Srit TEeT g B, el o §

(1) oEEd &t (2) &=
(3) dfhg I (4) STEIHE @I

Which of the following can be used as biofertilizer ?

(1) Nitrogen fixing cyanobacteria (2) Nitrogenfixing bacteria
(3) Mycorrhiza (4) All of these

18



50.

51.

52.

16U/119/8

F= # Q39 Sfae @ & =9 & ST fear o gear 7

(1) TSI ST T
(2) W@aﬁﬁﬁﬂw%a%ﬁm

(3) FTERITEST

(4) ¥ &

To an astronaut in the space craft, the sky colour appears to be :

(1) Blue (2) White (3) Black (4) Orange red
FAEAE & 42 weh arafe@nh & omgum @& 47 R 3
(1) (2) B (3) =/ (4)  SITERRTRT
Which of the following States does not have notified scheduled tribe ?
(1) Goa (2) Maharashtra

(3) Kerala (4) Karnataka
ﬁwﬁﬁ%&wﬁaﬁ@aaﬂ@aaﬂwﬁﬂﬁ%?

(1) e (2) werTg

(3) @@ (4) Feteh

If water contract on freezing, which of the following would happen ?
(1) Iceberg will completely float on surface of water.

(2) Ice would become more dense.

(3) Lake would freeze from top to bottom.

(4) Rock will crack due to freezing of enternal water.

mw&@m@m%aﬁwﬁawqﬁam?
(1) fend Tfey @ o 3 w9 w Ry

(2) % = = A s

(3) #IT SuX & Y q om oW

(4) Ww.aﬁﬁa@qﬁmwﬁm,

19
P.T.0,



16U/119/8

S3.

54.

33.

56.

Headquarters of Amnesty International is at :

(1) New York (2) London
(3) Washington (4) Berlin
TAE FUHAIA B JEAT B

(1) =qams 3§ (2) waw H
(3) enfdfras # @) afe o

The Yellow Stone National Park is in :

(1) US.A.  (2) France (3) China (4) Maldives
(1) JouHoUo H (2) g H

(3) = A (4) weda o

Equator passes through which of the following continents ?

(1) Africa (2) Australia

(3) Europe (4) North America

e v e 7 R e & ger e 7

(1) SThicHT (2) o

(3) TAT (4) Il oTARERT

Days and nights are equal throughout the globe when the sun is

above :

(1) Poles

(3) Equator

@%ﬁ&ﬁmaﬁﬁﬁmaﬁ%m@ﬁwm%:
(2) @b &

1
(l?)) ?;ﬂ - : (4) weBT @

(2) Tropic of cancer
(4) Tropic of capricorn

.20



S57.

16U/119/8

Which of the following gases is used for refrigeration ?
(1) Chlorine - (2) Sulpher oxide

(3) Phosphine (4) Ammonia

S8.

59.

60.

M J 8§ BA-ar N uehes & wdnr Rear omar 2

(1) = . (2) WEHT SATHIRS

(3) BRI (4) oIt

Which of the following State is largest state of India in area ?

(1) Madhya Pradesh  (2) Rajsthan

(3) Maharashtra (4) Uttar Pradesh

ﬁ%ﬁﬁﬁmﬁ@waﬁrﬁ?—mwwﬁﬁanw%?

(1) A& g (2) TSREI™

(3) HERI (4) I ge9r

Which of the following State has the largest reserve of copper ore ?

(1) Andhra Pradesh (2) Chattisgarh

(3) Jharkhand (4) Rajasthan

ﬁwﬂﬁmw#mﬁaﬁﬁrﬁwm%?

(1) ST w2 (2) exiiETe

(3) 311?@"3 (4) TroTEET

Aspirin is the common name of :

(1) Salicylic Acid (2) Salicylate

(3) Methyl Salicylate (4) _Acetyl Salicylic Acid

TEl arr &

(1) 8RR oive & @ SRR

(3) A Afvfacre (4) Ui AR o
2T

P.T.0.
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Directions : In each of the following questions, various term of an alpha-

61.

62.

63.

64.

65.

66.

bet series are given with one or more term missing as shown
by (?) : choose the missing term out of the given alternatives.
Friffaa s w1 &, g w1 & [_Afy= aof Ro o
¥, Rorrd b a1 aiferes ot 52 gu ¥ Rraa (7) & wafia e
a7 21 fau U faeedt # @ g ogu aut @ giea )

AZ, GT, MN, ?, YB

(1) KF (2) RX (3) SH (4) TS
AZ, CX, FU, ?,
(1) IR (2) IV (3) JR (4) KP
AZ, BY, CX, ?,

(1) EF (2) GH (3) 1 (4) DW

DKY, FJW, HIV, JHS, ?
(1) KGR (2) LFQ (3) KFR (4) LGQ

BXJ, ETL, HPN, KLP, ?
(1) NHR (2) MHQ (3) MIP (4) NIR

JE: LH: OL’ SQ’ ?

1) W (2) WX (3) VW (4) XW

22
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79. (1) Harmonium (2) Guitar (3) Violin (4) Musician

(1) erAIf=E  (2) frer 3) aEfe  (4) wlfgwre

80. (1) Butter (2) Juice (3) Cream (4) Curd
(1) Herae (2) @&x| () =™ (4) ==
81. (1) Crow (2) Bat (3) Sparrow (4) Owl

(1) e (2) eSS (3) BT (4) I

Directions: In each of the following questions there is a relationship between
two terms to the left of : and the same relationship holds

between the two terms to its right, In each of these questions

one term either to right of : or to its left is missing. Find the

missing term from alternative given.

ﬁ%%mﬁtﬁ,:%aﬁ%wﬁqw%%ﬁﬁwm%
@ra@m:%m%%%@qﬁﬁ%:mmﬁqzﬁw:

T o A g ¥ R Rl 7 @ @@ g
=9 HRY |

82. Fire:Hot ::Ice:?

AR W] ;. gy ; ?

(1) Snow (2) Cloud (3) Rain (4) Cola
(1) Ry (2) @Ee oy gy (4) 3
25
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83.

84.

85.

80,

Procession : Route : : Earth : ?

(1) Sun (2) Revolution (3) Orbit

W:W::gezﬁ:?

(1) g4 (2) ufeEmr  (3) @

Flower : Flower pot : : Player : ?

(1) Game (2) Captain (3)

ST AR EES| I | B
(1) & @ w1 (@)

Plant : Tree : : Girl : ?
(1) Mother  (2) Sister  (3)
QY : U SEE I

(1) = (2) & (3)

Mountain : Valley : @ Light : ?

(1) Darkness (2) Sun (3)

qajﬁ_-qré’rzzﬂzﬁl‘-‘ﬂi?
g swEx @ @™ @

26

(4) Space
(4) STRE
Ground (4) Team
I@a H AIE (4) &
Woman (4) Wife
aflT.ﬂ (4) gt
Night (4) Morning
e (4) &



87.

88.

89,

90.

16U/119/8

Import : Export : : Expenditure : ?

(I) Debt (2) Taxes (3) Deficit (4) Revenue
SIRIGENEE U s SRR - o SR
(1) oot (2) &I (3) H=reT (4) TSI

KMF:LLH::RMS:?
(1) SSu (2) SLR (3) SLU (4) SUS

(1) @y yg (2) TH T R
B) Wuwayg (4) wH g uw

Among the five boys Phulchand is smaller than Devendra. Amba ig

longer than Kewal. Sonu is longer than Devendra but is not as big as
Kewal. Who is the longest boy ?

(1) Devendra (2) Sonu  (3) Amba (4) Kewal

d‘hagﬁﬁw,ﬁaﬁ@a%:m%%w% S
%aaawa,ammmmaﬁ%uﬁqmw'%
?

(1) B¥Wag (2) &g (3) o=y @) ey

What is that which comes once in june, twice in November py¢ never
in July and August ?

(1) n (2) ¢ (3)__i @) b
G i ﬁgmm,wﬂﬁmﬁa;,
mﬂﬁ%”eﬂm? : I i

(1) n 2 e (3 j 4) b

27
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91. Among the five friends, Dipti is of middle age. Kamal is the smallest
one. Ulka is older than Narayan and Narayan is younger than Alka
and Dipti. Who is oldest one ?

(1) Kamal (2) Ulka (3) Insufficient data (4) Alka

gre el #, G meg g7 @ ¥ 1 FE qEQ Biel 8 | Sk AR
F =727 oY AR, oTeR ofX AftT A SieT T I 999 g7 8 7

(1) T (2) Il (3) SqTi STET (4) SIH
Directions :In a group of five persons A, B,C,D,E there is one tennis player
and one badminton player. A and D are unmarried ladies and

do not play any game. There is a couple in the group, of which

E is the husband. None of the ladies play chess or badminton.
D is (e Lrother of C and is neither a Tennis player nor a

chess player.

Gin el dl A, B,C,D,k & G #, T TH ofik ¢ S
1 fTaeel ¥1 A ofk D sifara Afear ¥ of) A3 @« T
@l | gYe 7 U dllsl B A @ g R @) e @ AR
7 wiee ISt SR Yefre & Aadl | B, C & A ¢ T
7 & 2 @ et & SR 7 al SRSt #

92. Who is the badminton player ?

efire a1 fE@rgt @ € 7
93. Who is the chess player ?
A gt A gas! ©

0 A 2) B 3) D (4) E

28
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94. Who is the wife of E ?

EF qeit P4 2 7
(1) A (2) B (3) C (4) D

95. Who is the Tennis player ?

i e Raarst & 7
(1) A (2) B 3) C 4) D

Directions : What should come in place of the question mark (?) in the
following questions ?

Fr=ifeiea met #, nswazﬁﬁl%(?)%%mﬁwwm
=fey ?

96. 36800 : 230 +230 = ?
(1) 80 (2) 400 (3) 390 (4) 380

97. 9000 + 18x 324 - 2100 = ?
(1) 169900 (2) 160000 (3) 159800 (4) 159900

98. 11520 : 384 + 192 =7
(1) 20 (2) 222 (3) 232 (4) 162
99. 55% 0of 80 + 30% of 90 + ? = 1908

(1) 71 2) 127 (3) 137 (4) 99

100. 7942 - 3587 = 6.5 x ?

(1) 640 (2) 760 (3) 670 (4) 680

29
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87.4x6.5-0.1
. - — D
28.4x9.8:568
(1172 2 3 (3) 2 (4) 4

101

102, If one fourth of two fifth of number is 36, what is the number ?

(1) 340 (2) 720 (3) 240 (4) 360

afq up 3ip ﬁ%-% T 13 36 & d g8 §e&r arm 7
(1} 340 (2) 720 (3) 240 (4) 360

103. The difference between two consecutive even number is 2. What is
the first of these two numbers ?
(1) 20 (2) 22
(3) 24 (4) Cannot be definitely said

afr & @ GH ST H of} 4 &, & A de § | e
d@n #/r g !
(2) 22

(4) RfiYed & & 78 B8 Fhd

104. Average age of Nutan, Prakash, Gouri and Ramesh is 21 years. The

average age of Gourl and Ramesh is 18 years. What is the average of
Nutan and Prakash ?

(1) 24 years (2 26 years (3) 20 years (4) 25 years

30
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108. At present, Madhu is 15 years older than Kamal. After 5 years Kamal
will be 10 years old. What is Madhu’s present age?

(1) 25years (2) 10 years (3) 20 years (4) 15 years

(1) 2539 (2) 10af (3 g0aqy @) 15 o

109. The difference between two numbers is 8 and their ratio is 1 : 5,
Which of the following is smaller number ?

(1) 24 (2) 2 (3) 8 (4) 12

aﬁwﬁ%quws%mmwuswm%\
FT & & 39 Srer e 2 7

(1) 24 (2) 2 (3) 8 | (4) 12

child after 10 years ?
(1) 30 years (2) 15 years (3) 18 years

32
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T, weprer, A IR A @1 ofEd 9| 21 g9 & M SR W
;W@lSﬁ%,ﬁWWW&TWGWGHW
?

(1) 2499 2) 26ad (3) 209 (4) 254

105. F:orty— two men can complete a work in 15 days. In how many days
will 30 men complete the same work ?

(1) 24days (2) 28days (3) 21 days (4) 20 days

42@%@%@15%%@%7&?5&%130@%@
FH F Rpad R & TU & ahd © ¢

(1) 24 &= 2 28R= (3 21 @A (4) 20+

106. If the price of five dozens of apples is ¥ 285 what will be the price of
34 apples ?
(1) 716150 (2) 171.50 (3) R142.50 (4) 7171.00

uﬁ&maﬁq%aaﬁra?mﬁmsé’rﬁrmﬁaaﬁaaqawm?
(1) % 16150 (2) ¥ 17150 @) X 14250  (4) T 171.00

1 .
107. When 24 is added to a number it increases to its 12 _ What is the

number ?
(1) 96 (2) 48 (3) 120 (4) 88

mmﬁmﬁ%ﬁ'&ﬂaﬂ%ﬁraﬁl% T 96 ST § WA

e © !
(1) 96 (2) 48 (3) 120 (4) 88
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aﬁqmﬁ,fﬁmahga%aaﬁs:zemwfa%uoaﬁqﬁ@
T X g3 & g % wp s & 2
(1) 30ay 2 153§ (3) 1849 (4) 259

112. A 180 meters long train crosses a man standing on the platform in 6
seconds. What is the speed of the train ?

(1) 90 kmph (2) 108 kmph (3) 120 kmph (4) 88 kmph
T% 180 vﬁawhwq?@%t{asarﬁaaﬁsﬁ%ugﬂ
UR HTA 21 I Ry @y T2

(1) 90 fForfto yquey (2) 108 fhorto sguar
(3) 120 fHoHio /quer (4) 88 fForto sxay

113.When a number is divided by 7 the remainder is 4, When the same
number is divided by 6, the remainder is 3. What is the number ?

(1) 39 (2) 37 (3) 48 (4) 56

w%@ﬁw®7ﬁ%mﬁa%mm%ﬁ4ﬁwﬁm%u

meﬁﬁwaﬁﬁﬁﬁwﬁfﬁﬁﬁmwﬁa‘rﬁwsmér
g d@&r |y B 7

(1) 39 (2) 37 (3) 48 (4) 56

114. The difference between the cost price and the sale price of an article is

¥ 240. If the profit percent is 20, at what price wag the article solg ?

(1) T 1240 (2) T 1600 (3) 1400 4) %1620

33
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el o @ A ol famhd god T TR ¥ 240 | A AH A
gfderd 20 B A g g fhe Yed GX 1 AT o 7

(1) T 1240 (2) T 1600 (3) T 1400 (4) T 1620

115. Express the following in the simplest form : 15 740 Paise : 46 ¥ 20

Paise :

() 2:3 (2) 1:3 3) 1:4 (4) 2:5
P ) oiead &9 4 oad HiRd

15 24099 : 46 ¥2099
(1) 2:3 2y 1:3 3) 1:4 4) 2:5

116. Express the following in the simplest form : 13 metre 15 cm. : 52

metre 60 cm.
(1) 1:4 (2) :l‘-metre (3 1:3 (4) %meter
13 dfET 15 Q.. ¢ 52 HeX 60 Hodio
1
(1) 1:4 2) Hfﬂ?{ 3) 1:3 (4) = WX

117.Express the following in the simplest form : 5 kg 800 gm : 2 kg 900

gm. :

(1) 1:2 (2) 1kg 3) 2kg 4) 2:1

34
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Ry @ G@Td B9 7 &R BT
5 fpodTo 800 UTH : 2 f&odlo 900 IH
(1) 1:2 (2) 1lkg (3) 2 fRomTO 4) 2:1

118. Which ratio is greater :

12:18 0r21:28
(1) 21:28 (2) 12:18 (3) both of them (4) none of them

HA-T1 ST TSI 8
12:18491 21:28

(1) 21:28 (2) 12:18  (3) I (4) T q B T
119. Find the value of X if ;

3 exrr12: 36

(1) 3 (2) 12 3) 9 (4) 8

X&H 7@ o< FRa ol -

J:1x:712:36
(1) 3 (2) 12 3) 9 4) 8

120.Fill in the blank :

8:36:: ():18
M 6 @ 4 @ 3 @ 9
Rer o &t gt &Ry -

8:36:: ():18

e @) 4 B3 @

35
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SECTION - 11
gvs - II
Language : English
(For Candidates Opting English Language)

Note : Four alternatives are given as possible answers to each question.

Give the correct choice as an answer.

Questions 121-124 choose the word nearest in meaning to the

underlined part.

121. That great artist’s life was full of vicisitudes.

(1) sorrows (2) misfortunes

(3) changes (4) surprises

122.Before [ could expostulate he had spoken again.
(1) Explain (2) Disclose

(S) Protest (4) Postulate
123. Weird noises came from the haunted houses.

(1) Unnatural (2) Beastly

(3) Unpleasant (4) Frightening

124.The indiscriminate cutting of tree ha

India.
(2) Extravagant

(1) Careful
(4) Wasteful

(3) Unselective

36
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Questions 125-128 Select the word which is opposite in meaning to
the underlined part.

125. Her impetuous behaviour was attributed to her upbringing.
(I) Rash (2) Poised
(3) Sluggish (4) Quiet and gentle

126.There is an obscure cave on the other side of the hill.
(1) Infamous (2) Well- known
(3) Notorious (4) Admired

127.The attack on the freedom of the press is a retrograde step.
(1) Progressive (2) Stubborn
(3) Punitive (4) Aggressive

128.The principal hardly managed to give the papers a cursory glance.
(1) Curious (2) Thorough
(3) Through (4) Superficial

Questions 129-134 choose the correct word to fill in the blank in the
given sentence.

129.The ---- conclusion is that people will have to live with rising prices.

(I) ultimate (2) inescapable
(3) final (4) hopeless
130.Everybody should ------ from any action which might create ll-will
among people.
(1) absent (2) desist
(3) abstain (4) avoid
37
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131.He had good ------ over the ancient languages too.
(1) authority (2) command
(3) knowledge (4) expertise

132.The president made an appeal to welfare organisations to take special

care of ------ women and children.

(1) destitution (2) destitute

(3) destitutel (4) destituting
133.The path of adjustment and ------ is not easy.

(1) improvement | (2) revolution

(3) evolution (4) reform

134.They decided to ---- down their original plans for the bigger house
and make it smaller.

(1) climb (2) turn (3) scale (4) play
135.That must be the ------- of economic policy in the years ahead.
(1) watchword  (2) guide (3) key (4) indicator

Questions 136-140 Identify the part having an error.

136.(1) He died (2) From (3) Cholera (4) No error

137.(1) The examination (2) Wil

(3) Commence (4) From monday

(2) With all

138.(1) The general
(4) Were killed

(3) His soldiers

38



16U/119/8

139.(1) If my father (2) Will approve
(3) Iwill (4) Go to Bombay
140.(1} One should (2) Always
{3) Take care (4) Of his health

Questions 141-142 Selected the part of speech of the underlined
word in the given sentences :

141. He lives in the middle house.
(1) Adjective (2) Noun

(3) Determiner (4) Conjunction

142.He can swim well.
(1) Verb transitive (2) Verb Intransitive
{3) Adverb of manner (4) Adjective

Questions 143-145 Seclect the most appropriate preposition to fill in
the blank in the following sentences.

143.The mother was anxious ------- the safety of her son,

(1) at (2) about (3) for (4)  upon
144.Your conduct smacks ----.... recklessness.
(1) of (2) with  (3) from 4)
in
145.Exercise is beneficia) -----.._ health.
(1) towards (2) fo; (3) to (4)
in
39
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Questions 146-147 choos :
. e the explanation th . ;
the idiom given below - P at catches the spirit of

146.Not to mince matters

(1) To speak out frankly (2) To beat ease

(3) to make matters easy (4) To be successful in business

147.The alpha and the omega
(1) assorted items (2) very costly items

(3) the beginning and the end (4) anice act

148. Select the world which has been correctly spelt.
(1) Leutenant (2) Liutenant

(3) Lieutenant (4) Lieutinant
149.Choose the correct passive of the given sentence :

Who has written this letter ?
(1) By whom this letter is written ?
2) By whom has this letter written ?

(
(3) By whom has this letter been written ?
(4) By whom have this letter written ?

150. Choose the option which best exprcsses. the given sentence into indirect
speech ¢

She said, “Alas! [ am undone”.
(1) She exclaimed that she was undone.
(2) She exclaimed with sorrow that she was undone.

(3) She exclaimed she is undone.
(4] She cxclairned with sorrow that she is undone.

40



SECTION - II
gvs - II
qrer B
(R &5 o Rt & R)
e« Frfefeas aet (1), (2), (3) TuT (4) HHIF B TR-IR JHRTE
SR &R 1 E, B @ 9w & a9 21 9w |/ I« A

g |
151. F=fRad & | H9-a1 9= ‘STER’ Fr qHETET 98 S 7
(1) 39 (2) Zarg (3) @ar (4) 3T

152. Frfafad & & frmefes s @& T @@ifm
(1) 518 (2) & (3) gee (4) T&ET

153. =T & S-ar e Yer @1 yafy =g 2

(1) 917939 (2) ad (3) gd (4) 19
154.%&%%3@%%%:
(1) aof (2) 3T (3) SHEX (4) =%

1SS. ‘M1’ A= wr wEl o7ef gy R 7
(1) TE= (2) AT
(3) e (4) 91 Y& AT

156. ‘ﬁﬁmvﬁwgﬁawa’—aﬁm%mqeﬁqﬁgﬁqm%?
(1) faam (2) dfew

(3) arofgs (4) arerefy

41
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157. ‘Sil 7T %1 3o @ - A B T W@ e g

(1) STTerEeh (2) Shof

@) 779 (4) wIregha
158. ‘Hi' 1 faeim srex =i @

(1) g™ (2) STERY

3) faus | (4) ﬁ'ﬁna:r
159. ‘faspra’ @1 @& faeiy gafa aRm |

(1) =8 (2) =T

(3) et (4) IR
160. =N F YR U ‘Uu=HAT = b Hife &1 8 ?

(1) & (2) Afrew

(3) TR (4) ATES
161, G5 9 A% ST 9 99 9% R G il |

(1) GHIAEAT | (2) EepT

(3) gATHeT (4) R
162. ‘THIEAT 9 & GEl aead ¥ ® 7

(1) I==RA (2) Sl

(3) IHETEA (4) SIS
163, ‘G o= F WE TEH HNE 7

(1) 39 (2) =t

4
) T (1) qTEIE

42



16U/119/8

164. ‘TAATT F BF-a1 ITT TR § ?
(1) I=R (2) 3¢ (=) Sl Y

165. ‘TTEEIT W 1 AA-|1 IqEH 9gHR & ¢
Mg @3 O H IR

166. ‘Feiar’ - w=x F P-A1 G G B ?

) = (2) T (3 = 4) =

167. ‘9@’ &1 GEl fIAer W Fw ¥ ?
(1) = (2) €IS (3) Hafda (4) =ifea

168. W& T B TFF BN |
(1) a9 (2 9 (3) I (4) qrHAY

169. A% MK & TGA HIT |

(1) ¥9&@ (2 @ (3) @ (4) A @
170. T a1 IR STK P GG T |
(1) drer (2) gerlar  (3) drer @) qex
171.W%th‘an’mﬁwﬁ%ﬁmq%ﬁ?w%?
(1) ¥ @ Rgg (3 9" (4) o7& forem
43
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172. ‘9T & §d 6y e g |
(1) q+Hirer (2) T+ S
(3) TRH+IIT (4) TRg+3eT

173. ‘=g’ o1 qdl iy fredg w7 B 7
(1) g + e (2}&4.33

(B) = + 3' 4) & + Fs

174. I’ a1 feir- Fafor #ifmg
1) Ehiim (2) gfesiT
(3) TYHHRAT (4) IwafeT

175. ‘3G geeMr gamaR & |qdl o @y g ?
(1) Terpl @&t BT (2) 9v@r I
(3) A9 & (4) faiaa &

176. *gﬁmam’gmﬁwwmﬁwﬁﬁaﬁﬁm
(1) TR BT (2) S-S AT

(B)Eﬁmﬁzﬁaw (4) e | BT
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177. ‘THATH’ (Acquittance) 1 & =< R a7 2 7
(1) FoT Args (2) FOTSMNEF
(3) FOTHIE® (4) FoTETEe

178. ‘Wﬁgiﬁ%’_—wwm—ﬁaﬁwaﬁﬁq:

(1) Sfareg 2) ‘matnar
(3) HHaT=y (4) aotar=y
179. "59 FO-95 a2 o T ¥’ - v ﬁa—ﬁs’wﬁmam‘fﬁm
Fife F T 7
(1) fargreor (2) gam
(3) Trznferdreor (4) g
180. ‘W%WWW%’—Wﬁ Tovger o1z % =TT AR
TR ? |
(1) sremg (2) Prafadyor
(3) fasrmor (4) har uRmroraTe=s
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ROUGH WORK
% &

46



ROUGH WORK
% &1
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10.

11

12.
13.
14.

sreaforat & forn frden

(39 gi&T & NeW AT g 4T a9r IY-47 & I get ov
&aer Tetl- wrelt aTer-@TEz 97 @ & e

v e frem F 10 e % o @ dm o f e § Wit ge A € S A

¥ G217 &1 e Qg T I T TR G e - S we
TUI9T F gEd g I ) ol
;m&ﬂﬂa?n foTET TR NAV- U & arfaftew, @l a1 W HiE A G w9
1 gl
m—wm#ﬁww?:sﬁ#a}nﬁ'm?ﬁﬁﬂﬁ}mm—waﬁ'ﬁwm:
Fae FuT-97 I &1 qeaiaT w2 A
maﬂmﬁmmmwmmw-wmﬁﬂ%ﬁﬁﬁammﬁ@
m-w%nwgsw&q#mmmﬁﬂﬁamwﬁﬁmaﬁﬁ#qﬁaﬂ
ngé? gt gt e @ agl ¥va- g @ w6 ad1 6 @ T 3w w@rt
T ferd
o THo HTTo A T AHA® AEAI, WHWEWM(WW?)W
wETgfiaeT av STFE WS H do Yo Ao T wea #) wfareat & suftereT 1 agatd
T8 81
m@mnﬁ@ﬁ#’aﬁ?maﬁmamﬁﬁwmmﬁmmﬁmw u# JFfam
g &7 FANT AT A
m—gfﬁm#’rﬁsm%mﬁaﬁﬁmﬁ#wi}mmtmm%m
mm-w#mﬁaﬁ%mﬁ?wwﬁm-w%mwwﬁéw
Feit & agar 47 8 meT H &
mm%m%mm@aqﬂﬁwﬁlwﬁmqﬁaﬁwm
mqua@wwmasmmwm1
are & Fi e a7 e g Sife v agen A N ww §1 @ A o I 1 T
qﬁ'ewgﬁ;a?n‘wraama:mﬁmmﬁqﬁ#mmé‘fﬁ@w’ww
3% a3 ama | .
mm%mm-@m%w%mmwﬁmwﬁma“mw
F T4 &
W%W%ﬁamwmm-wmmﬁmmil
mm@ﬁ@wﬁqﬁmmamaﬁaﬁaﬁwﬁaﬁaﬁl
qﬁ@gmﬁmﬁﬁﬁﬁmﬁﬂmmé,ﬁ%ﬁwﬁmmmﬁuﬁﬁ

ss /A, T il



